Mathematics

Assessment — Term 3

Grade 3
Name:
Date:
Questions Marks
[ Nambers, Opsrations and Relationships 58
2. Patterns, functions and Algebra 10
3 Space and Shape 3
4. Measurement, A
5. Data Handing 5
Totdl| 100




! Numbers, operations and r‘e|qtionships

L. Count the f o||owin3 obJects and write the answers in the
block. (1)

W
W@

2. Order

.2] Order the Fo"owing numbers from the smadllest to
the |qr‘9est. (1)

206, 602, 622, 260, 620

.2.2 Order the f o||owin9 numbers from the |c|r‘3est to the

smallest.. ([)

108, 101, 710, 718, 78,

.3. ComP|ete the number line. (7)

o
889 879 829 809




M.. Calculations — Write down the answer. ([0)

a bxhl+5=__ f. What is 20 more than 5,7 =___
b. 49-5=__ g What is 100 less than 899= _
c. Divide 4 in half=___ h. 10 groups of 10=___

d Divide I00inhalf = i 60-20+6+3=___

e. Double 25=___ j hless than [02=___

.5, Round of f the numbers to the nearest [0. (2)
a 19 -
b) 312 -

.6. Rename numbers — Breadk up the numbers in l‘\unclr‘ecls, tens
and units. (5)
6l 536 = + +

.6.2. + 80 + = 680

7. Number names —Comp|ete the table. (/J

Number‘ SHFﬂbOl Number‘ name

830

Six hundred and seventﬁ

436

One hundr‘ecl Ghd 'F\OF"tJH"FOUF‘




7. Cdledlate the f o||owin9 sums. Show dll your caleulations. (I5)

253 +182=__ 5(8-239=____
(2) (2)
45 X 6 - 4_2 + 3 =
(2) (3)
l3x3=___ 100-99=____
(4) (2)




|18 Cdleculate the f o||owin3: (2)
a) 50c + 50c + 10c + 5c +lc =
b) R5000 + R200 + 50c =

9. Match the names of the money with their coin or note. (4)

Five rand Two hundred Fif tH Hundred rand

rand cent

”O WOI"CI Pr‘o|0|ems

IO,  Farmer Joe buﬂs 285 chickens. He wants to divide the
chickens ecluq"}j between 5 chicken coops. How many
chickens will be in each chicken coop? (3)

1I0.2 There is 68| springbucks in a camp. Two cheetahs
comes inside the camp and bite 129 of the

(Sg;‘ihgbUCl(S CIGOCI. HOW monﬂ SPI"ihSlOUCI(S are |e'F'tJ?

Total Question 3= ___/58




2. Pcrb‘berns, functions and A|3ebr~a

2). Patterns — ComP|ete the Pqtterns below. (L)

211 800, 100, ,. , 300.
212 389,379,369, —, 329
213 555556, 559, .

214 350, 400, 450, —, _ , _, 650.

2.1.5 ExPcnd the Pcttern below on|3 once. (I)

ooOAA OOOAA

Draw the star which comes next. (l)

e o

2.1.7. ComP|ete the Potter‘ns in the squares. (A)

.\l..l o? e | o

Totd Question2=___/I0




3. SPGCG and Sthe

3. Draw the top view of the birdhouse. (I)

3.2. Draw the f o||owin9 shqpes in the blocks. (2)

S%UGPG

tr‘iqn9|e

3.3. Match the 3D shqpe with its name bH clr‘qwing a line. (4)

OVd

cube

r‘ectqn9|e

03|inc|er‘




3.4. Is the o||owin3 shopes flat or round. Color in the correct

answer. (2)

3.41.

2

tlat

I"OUhCI

tlat

r‘ound

35 Wl’]lCl’] O'F the 'FO"OWIHS shqpes hOS a 'Fldt qncl r‘ouncl SiCIGS?

Circle the shqpe (1)

—

D

3.6. Look at the butterflies and color in the butterf |3 which is

SHmmetr‘icoL (1)

i




3.]. Divide the South African f |c|9 SHmmetr‘icoL (1)

3.8. Describe in your own words

SBmmetr‘ich

what it means when a shope is

(1)

L. Measurement.

Totdl Question3=___/I3

A.|. Order the o||owin3 containers from the |or‘3est to the

smallest. volume. S
Y
"
\& &%@
280
L
container | container 2
L.
412

413.
b1

@)

]

container 3 container 4

F
=]
)
29




4.2. What meqsur‘ing unit. will you use to measure the distance

between two cities?

£.3. Which mecsur‘ing tool do you use t o0 measure gram and

|<i|03 ram?

AL Which one is the most.? Underline the correct answer.

6 minutes 6 hOUI"S 60 SGCOhdS

45 ComP|ete the f o||owin9:

(@ 2hours = minutes
(b) Half of a year = months
(©) | day is = hours

(d) 2 decades = year

(e) 120 seconds = minutes

4_.6. Draw the hands of the clock t.o show the time.

Quarter Past. 12

Total Question L = ___/I/




5. Data and|in3

..................

] {
o

................. - .N
e
N

fassmussssssssunnnn ..;E
cat motor‘c30|e bicHde train taxi
Answer the f o||owin9 questions:

. Which t’HPe of’ tr‘qnspor‘t does the PeoP|e Pr‘ef‘ er the most?

{)
2. Which t’BPe of tr‘qnspor‘t does the Peop|e Pr‘eF er the least.?

{)
3. Which tﬂpe of tr‘cnspor‘t do theﬂ Pr‘eF er ecluo"tj?

{)

L. There is ___ more PeoP|e who use cars than taxi's. ()

5. Write your own heccling for the 9r‘qph on the line above the Sr‘oph. (1)

Tota Question5=___/5




